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6.1.1 0O0O0O0O0O SuuretsuNoWal

S, 009%000000000000000O0

1 program SuuretsuNoWal; // 0O0O00OOOO

2 {$APPTYPE CONSOLE}

3 uses

4 SysUtils;

5

6 var

7 N : Integer; // 0000

8 An : Real; // 0

9 Sn : Real; // 0

10

11 begin

12 Writeln(’ 00 An 00 Sn=A1+A2+..+An OO O0O0O0?);

13 Writeln(’ 0O OO An=1/n(n+1)°);

14 Writeln(’ 00O 0.95 0000 O0OOOOOOO0O?);

15 WriteLn;

16 Sn := 0; // sn000000000
17 N :=1; // N=1 00000
18 repeat // 0000

19 An := 1/(N*(N+1)); //  An0O 0000
20 Sn := Sn+An; // Snd0 An0O0 00O
21 Writeln(N:3, An:10:5, Sn:10:5); // ooo0ooooo
22 Inc(N); // N O000000oo
23 until Sn >= 0.95; // Sn 0.95 O0O0O0OO
24 WritelLn;

25 WriteCEnter OO O OOOOO?);

26 Readln;

27 end.
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6.2.1

00000 SuuretsuNoWa3

a, 0 1073000000000 6§, 0000000

0 N O O WN -

program SuuretsuNoWa2; // OO0OOOOO0O
{$APPTYPE CONSOLE}
uses

SysUtils;

var
N : Integer;
An : Real;
Sn : Real;

begin

Writeln(’ 00O An 00 Sn=A1+A2+..+An OO OOO0O?);

Writeln(’ 00O 0O A1=1, An=A{n-1}/(n-1)’);

Writeln(’An 0 10°(-13) OO0O0OO0O0O000000O00OO);

Writeln;
N :=1;
An := 1;
Sn := An;
WriteLn(N:3, An:20:13, Sn:20:13);
N := 2;
repeat
An := An/(N-1);
Sn := Sn+An;
WriteLn(N:3, An:20:13, Sn:20:13);
Inc(N);
until An <= 1E-13;
Writeln;
WriteCEnter DO O OOO0DO0O?);
Readln;
end.
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